gz o tigt o B9 A § &2 Ae BF e A2? (B
Z—‘:—zo Aol Eagoltt)

@ z-zv& Aot

© z+zv= Aol

© z-zv 3ol

® (z+1)(z+1)=>A5olth

® 9,0 ® 0,6 ® 0,6
@0a, 0@ ® 3,0 0, e

z=a+bi(a, bEEAF)EEOHI=a-bio|BE2
@ z-72= (a+ bi)(a-bi) =a®+b? (A=)

© z+7z= (a+ bi) + (a—bi) =2a (A=)

® z-z= (a+ bi) — (a— bi) = 2bi

@ @+1)EzZ+1)=

b=0o°]H A4 b+0oH 3

ol
(a+bi+1)(a—-bi+1)

= (a+ 1+ bi)(a+1-bi)
(a4 12 452 (%)




_ x+1 x+1 =
s ael detol, YU — - [T ol gug a1+ -2

O] Ft& ok? (& (x+1)(x—2) #0)

D 2x-1 @ -2x+1 @3
@ -3 ® x+1

Vb b 3

[ e T | 1= oy B e |

7 V2 & usstem,

L-l<x<2

a<0, b>0o|ch
gt x+1>0,x-2<0, -1<x<2, x# -1, x#2

Jx+1|+|x-2|=x+1-x+2=3




Eaa = x+yis FEBE AN A px, y)oll A2 W, (3-4i)z
7t Ae7 =A sk A p ol AF7E HEdE =822

@71e17t ¥ 44 @ 718717 &< M4
® 92 25T =2 @ ol BEG TR
® ¢

(3 —4i)z = (3 —4i)(x+ yi)
= (3x+4y) + (-4x+ 3y)i
%7} F el $143 —ax+ 3y = 001,

Ly = 3x (=718717H %2 A4




4.

a-b<00° avb=—-Vab 2 W, \/(a-b)2-la+b =
Sh?

@ b @2 ® a-2b
@ 2a+b ® 0

B

7}

1

a-b<0, Vavb=—-+Vab ©|22 a4 <0, b<0
Tetd a-b <0, a+b<00]BE

(a—b)2—la—b|=la-b|l—|a+b|
=—(a=-b)+ (a+b)
=-a+b+a+b=2b




o
o

Bad o ooz = i + mmn O A A 29 ASE ot

2 A8 A P2 (0= VoT)

6 @14 @sH @ © 104

B \

m=1ln=1z=i+i=2i
m=1n=2,z=i-1
m=1n=3,z=i-i=0
m=1n=4,z=i+1
m=1n=5z=i+i=2i

1 2 3 4
1] 20 | i-1] 0 | it1
2 1+i| 2 |-1-i| 0
3] 0 | —i-1]| -2 |—i+1
A 1+i | 0 [ 1-i]| 2

72=0,2,-2,2i,-2i,1 +i,-1+i,-1—-i,1—-i
=978




